Economics 130

Name________________

Spring 2005

Sample Midterm Exam

You have 1 hour and 15 minutes to complete this exam.  There are 2 short answer questions, and four true, false, explain questions.  Write your answers on the pages provided.  Show your work for all your calculations.  Each part of each question is worth 5 points.

1. Public Good—Neighbors’ Fence

The fence dividing two neighbor’s back yards blew down during the last big windstorm.  These two neighbors don’t get along very well, and they like their privacy, so both would like to see the fence re-built.  They must decide together what height fence to build.  If H is the height of the fence in feet, their marginal benefit functions are:  



Neighbor 1:   
MB1 = 95 – 10H

Neighbor 2:  
MB2 = 80 – 5H  


a) Draw the marginal benefit functions for each neighbor, and draw a marginal social benefit function.  What is the equation for the marginal social benefit function?  

b) If the marginal cost of a foot of fence is $100, what is the socially optimal fence height?

c) How tall a fence would each neighbor build if he had to pay for the whole fence?

2. Impact of Welfare Reform on Work Incentives

a) Draw a budget constraint for an individual who could work up to 320 hours a month, and could earn $6 an hour.  Label the endpoints of your budget constraint.  Draw an indifference curve representing the choice of working 80 hours a month, and label earnings at this point.  


The structure of CalWORKS, California’s current welfare program, creates new incentives for recipients to enter the labor force.  The program offers:

· a maximum cash benefit of $624 for a family of 3, with no earned income

· an “earned income disregard” of $225, so the benefit is not reduced for the first $225 of earned income

· a benefit reduction rate of 50 cents for each dollar earned above $225

b) Draw the new budget constraint for this individual, and draw an indifference curve tangent to the new budget constraint.  What has happened to labor input?  Describe the income and substitution effects from CalWORKS for this individual (only for the range representing the actual choice shown on your graph).  

c) How is this benefit structure different from AFDC benefits prior to welfare reform?  How should this change in policy affect labor force participation of recipients?

True, False, Explain.  For each statement, answer whether the statement is true or false, and then explain why it is true or false.  Credit is given primarily for your explanation.  Two or three sentences should be sufficient to answer each of the questions.

1. A positive externality of production would cause marginal social cost to be greater than marginal private cost.  True or false?  Explain.

2. A pay-as-you-go system, such as social security, pays benefits to current retirees by drawing on a personal account that has been built up over a worker’s lifetime.  True or false?  Explain. 

3. Economic theory predicts that the Earned Income Tax Credit should increase labor force participation and hours of work.  True or false?  Explain.

4. Adverse selection in the market for health insurance leads to a situation where only healthy people can buy insurance.  True or false?  Explain.
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